

Structures of Q-intuitionistic fuzzy ordered filters in ordered Γ -ternary semiring

T. Jayakumar
Research Scholar,

PG and Research Department of Mathematics,
Sudharsan Arts and Science College,
Pudukkottai - 622 104, Tamil nadu, India.

Dr. B. Anandh
Assistant Professor,

PG and Research Department of Mathematics,
H.H. The Rajah's College (Autonomous),
Pudukkottai - 622 001, Tamil nadu, India.

Abstract

In this paper, the notion of structures of Q-intuitionistic fuzzy ordered filter in ordered Γ - semiring and some their properties and structures are studied.

Key-words Q-intuitionistic fuzzy ordered filter, ordered Γ - semiring

1. Introduction

The notion of semiring was introduced by H.S. Vandiver[4], in 1934. The notion of Γ - ring was introduced by N. Nobusawa as a generalization of ring to 1964, Dutta and Kar[2] introduced and studies some properties of ternary semirings which is a generalization of ternary ring. The notion of Q-intuitionistic fuzzy ordered filters in Γ - ternary semiring is introduced.

2. Preliminaries

Definition 2.1 Let A and B be two Q-intuitionistic fuzzy subset of an ordered Γ - ternary semiring R $\alpha \in \Gamma$ and $q \in Q$. Then the product of A Γ B of A and B is defined by

$$\mu_{A\Gamma B}(a,q) = \begin{cases} \bigvee \mu_A(b,q) \wedge \mu_B(c,q) & \text{if } a = b\alpha c \\ a = b\alpha c & \\ 0 & \text{otherwise} \end{cases}$$

$$\nu_{A\Gamma B}(a,q) = \begin{cases} \bigvee \mu_A(b,q) \wedge \nu_B(c,q) & \text{if } a = b\alpha c \\ a = b\alpha c & \\ 1 & \text{otherwise} \end{cases}$$

Definition 2.2 Let A and B be two Q-intuitionistic fuzzy subset of a ordered Γ - ternary semiring R, $\alpha \in \Gamma$ and $q \in Q$. Then the product composition $A \circ B$ of A and B is defined by

$$\mu_{A \circ B}(c, q) = \begin{cases} \bigvee (\mu_A(a_i, q) \wedge \mu_B(b_i, q)) \\ i \leq i \leq m \end{cases}$$

$$\mu_{A \circ B}(c, q) = \begin{cases} \bigwedge \mu_A(a_i, q) \wedge \mu_B(b_i, q) \\ i \leq i \leq m \\ 0 & \text{other wise} \end{cases}$$

$$\nu_{A \circ B}(c, q) = \begin{cases} \bigwedge \mu_A(a_i, q) \vee \nu_B(b_i, q) \\ i \leq i \leq m \\ 1 & \text{other wise} \end{cases}$$

Definition 2.3 Let A and B Q-intuitionistic fuzzy subset of an ordered Γ - ternary semiring R. Then the intuitionistic sum $A \oplus B$ of A and B is defined by

$$\mu_{A \oplus B}(a,q) = \begin{cases} \bigvee \mu_A(b,q) \wedge \mu_B(b,q) & \text{if } c = a+b \\ c = a+b \\ 0 & \text{otherwise} \end{cases}$$

$$\nu_{A \oplus B}(a,q) = \begin{cases} \bigwedge \mu_A(a,q) \vee \nu_B(b,q) & \text{if } c = a+b \\ c = a+b \\ 1 & \text{otherwise} \end{cases}$$

Definition 2.4 Let $\{A\}_{i \in \mathbb{N}}$ be an arbitrary family of Q-intuitionistic fuzzy subset of an ordered Γ - ternary semiring R. Then $\bigcap A_i = \{\bigwedge \mu_{A_i}, \bigvee \nu_{A_i}\} = (\bigcup A_i = \{\bigvee \mu_{A_i}, \bigwedge \nu_{A_i}\})$.

3. Main Theorems

Theorem 3.1 If A, B and C are Q-intuitionistic fuzzy ordered filters in an ordered Γ -ternary semiring R. Then $A \circ B \circ C$ is a Q-intuitionistic fuzzy ordered filters in R.

Proof: For any $x, y \in R$, we have

$$\begin{aligned} \mu_{A \circ B \circ C}(x+y, q) &= V[\wedge \mu_A(u_i, q) \wedge \mu_{B \circ C}(u_i, q)]: \\ x+y &= \sum_{i=1}^k u_i \alpha v_i \in R, \alpha \in \Gamma, q \in Q, k \in N. \\ &\geq V[\wedge \mu_A(a_i, q) \wedge \mu_{B \circ C}(b_i, q)] \wedge [\wedge \mu_A(c_i, q) \wedge \mu_{B \circ C}(d_i, q)] \\ &\quad 1 \leq i \leq m \quad 1 \leq i \leq m \\ x &= \sum_{i=1}^m a_i \alpha b_i, y = \sum_{i=1}^n c_i \alpha d_i, a_i b_i c_i d_i \in R, \\ \alpha \in \Gamma, q \in Q \text{ and } m, n \in N. \\ \{ &= V[\wedge \mu_A(a_i, q) \wedge \mu_{B \circ C}(b_i, q)]: \\ x &= \sum_{i=1}^m a_i \alpha b_i, \sum_{i=1}^n c_i \alpha d_i \in R, \alpha \in \Gamma, q \in Q \text{ and } m, \\ n &\in N.\} \\ \wedge V[\wedge \mu_A(c_i, q) \wedge \mu_{B \circ C}(d_i, q)]: &y = \sum_{i=1}^m c_i \alpha d_i, \\ c_i, d_i \in R, \alpha \in \Gamma, q \in Q \text{ and } m, n \in N.\} \\ &= \mu_{A \circ B \circ C}(x, q) \wedge \mu_{A \circ B \circ C}(y, q). \\ \nu_{A \circ B \circ C}(x+y, q) &= \wedge [V \nu_A(u_i, q) \vee \nu_{B \circ C}(v_i, q)]: \\ &\quad 1 \leq i \leq k \\ x + y &= \sum_{i=1}^k u_i \alpha v_i u_i, v_i \in R, \alpha \in \Gamma, q \in Q, k \in N. \\ \leq &V[V \nu_A(a_i, q) \vee \nu_{B \circ C}(b_i, q)] \vee [V \nu_A(c_i, q) \vee \nu_{B \circ C}(d_i, q)] \\ &\quad 1 \leq i \leq k \quad 1 \leq i \leq k \\ x &= \sum_{i=1}^m a_i \alpha b_i, y = \sum_{i=1}^n c_i \alpha d_i, a_i b_i c_i d_i \in R, \\ \alpha \in \Gamma, q \in Q \text{ and } m, n \in N. \\ &= \wedge \{V[\nu_A(a_i, q) \vee \nu_{B \circ C}(b_i, q)]: x = \sum_{i=1}^m a_i \alpha b_i, \\ a_i b_i \in R, \alpha \in \Gamma, q \in Q \text{ and } m, n \in N.\} \\ \wedge V[\wedge \nu_B(c_i, q) \wedge \nu_{B \circ C}(d_i, q)]: &y = \sum_{i=1}^n c_i \alpha d_i, c_i, d_i \in R, \\ \alpha \in \Gamma, q \in Q \text{ and } m, n \in N.\} \\ &= \nu_{A \circ B \circ C}(x, q) \vee \nu_{A \circ B \circ C}(y, q). \\ \mu_{A \circ B \circ C}(x \alpha y, \beta z, q) &= V\{\wedge \mu_A(u_i, q) \wedge \mu_B(v_i, q) : \mu_C(w_i, q) : \\ &= \sum_{i=1}^m x \alpha y \beta z\} = \sum_{i=1}^m u, \alpha v_i \beta w_i, u_i, v_i, w_i \in R \alpha, \beta \in \\ \Gamma, q \in Q, m \in N.\} \\ &= V\{\wedge \mu_A(a_i, q) \wedge \mu_B(b_i, q) \wedge \mu_C(c, \beta z, q) : x \alpha y \beta z, = \\ &\sum_{i=1}^m a_i \alpha b_i, \beta c, \beta z, a_i, b_i, c_i \beta z \in R, \\ \alpha, \beta \in \Gamma, q \in Q m \in N\} \\ &\leq V\{\wedge \mu_A(a_i, q) \wedge \mu_B(b_i, q) \wedge \mu_C(c_i, q) : x = \sum_{i=1}^m a_i \\ &\alpha b_i, \beta c, a_i, b_i, c_i \in R, \alpha, \beta \in \Gamma, q \in Q m \in N\} \\ &= \mu_{A \circ B \circ C}(x, q). \\ \nu_{A \circ B \circ C}(x \alpha y, \beta z, q) &= \wedge \{V \nu_A(u_i, q) \vee \nu_B(v_i, q) \vee \nu_C(w_i, q) : \\ &\quad 1 \leq i \leq k \\ x \alpha y \beta z &= \sum_{i=1}^m u, \alpha v_i \beta w, v_i, v_i w_i \in R, \alpha, \beta \in \Gamma, q \in Q, \\ m \in N\} \\ &= \wedge \{[\wedge \nu_A(a_i, q) \vee \nu_B(b_i, q) \vee \nu_C(c_i, \beta z, q)]: \end{aligned}$$

$$\begin{aligned} x \alpha y \beta z, q &= \sum_{i=1}^m a_i \alpha b_i, \beta c, \beta z, a_i, b_i, c_i \beta z \in R, \alpha, \\ \beta \in \Gamma, q \in Q m \in N\} \\ &\geq \wedge \{V \nu_A(a_i, q) \vee \nu_B(b_i, q) \vee \nu_C(c_i, q) : x = \sum_{i=1}^m a_i \alpha b_i, \\ &\quad 1 \leq i \leq k \\ \beta c, a_i, b_i, c_i \in R, \alpha, \beta \in \Gamma, q \in Q m \in N\} \\ &= \nu_{A \circ B \circ C}(x, q). \end{aligned}$$

Hence $\mu_{A \circ B \circ C}(x \alpha y \beta z, q) \leq \mu_{A \circ B \circ C}(x, q)$ and $\nu_{A \circ B \circ C}(x \alpha y \beta z, q) \geq \nu_{A \circ B \circ C}(x, q)$.

Similarly, $\mu_{A \circ B \circ C}(y \alpha x \beta z, q) \leq \mu_{A \circ B \circ C}(x, q)$ and $\nu_{A \circ B \circ C}(y \alpha x \beta z, q) \geq \nu_{A \circ B \circ C}(y, q)$.

Also $\mu_{A \circ B \circ C}(x \alpha y \beta z, q) \leq \mu_{A \circ B \circ C}(z, q)$ and $\nu_{A \circ B \circ C}(x \alpha y \beta z, q) \geq \nu_{A \circ B \circ C}(z, q)$

Let $x \leq y$, then $\mu_A(x, q) \leq \mu_A(y, q)$ and $\mu_B(x, q) \leq \mu_B(y, q)$

Also $\nu_A(x, q) \leq \nu_A(y, q)$ and $\nu_B(x, q) \geq \nu_B(y, q)$

$$\mu_{A \circ B \circ C}(x, q) = V \{ \wedge \mu_A(a_i, q) \wedge \mu_{B \circ C}(b_i, q) : \quad 1 \leq i \leq k$$

$$x = \sum_{i=1}^m a_i \alpha b_i, a_i, b_i \in R, \alpha, \beta \in \Gamma, q \in Q m \in N\}$$

$$\leq V \{ \wedge \mu_A(c_i, q) \wedge \mu_{B \circ C}(d_i, q) : \quad 1 \leq i \leq k$$

$$y = \sum_{i=1}^m c_i \alpha d_i, c_i, d_i \in R, \alpha, \beta \in \Gamma, q \in Q m \in N\}$$

$$= \mu_{A \circ B \circ C}(y, q).$$

$$\nu_{A \circ B \circ C}(x, q) = V \{ \wedge \nu_A(a_i, q) \wedge \nu_{B \circ C}(b_i, q) : \quad 1 \leq i \leq m$$

$$x = \sum_{i=1}^m a_i \alpha b_i, a_i, b_i \in R, \alpha, \beta \in \Gamma, q \in Q m \in N\}$$

$$\geq V \{ \wedge \nu_A(c_i, q) \wedge \nu_{B \circ C}(d_i, q) : x = \sum_{i=1}^m c_i \alpha d_i, b_i, \quad 1 \leq i \leq k$$

$$c_i, d_i \in R, \alpha, \beta \in \Gamma, q \in Q m \in N\}$$

$$= \nu_{A \circ B \circ C}(y, q).$$

Hence $A \circ B \circ C$ is Q intuitionistic fuzzy ordered filter of R.

Theorem 3.2

If A and B are Q intuitionistic fuzzy ordered filter of R, then the intuitionistic sum $A \oplus B$ is Q-intuitionistic fuzzy ordered filter of R.

Proof: For any $x, y \in R$.

$$\mu_{A \oplus B}(x, q) \wedge \mu_{A \oplus B}(y, q) = \{V\{\mu_A(a, q) \wedge \mu_B(b, q) : x = a + b\} \wedge \{V \mu_A(c, q) \wedge \mu_B(d, q) : y = c + d\}$$

$$= V\{[\mu_A(a, q) \wedge \mu_B(b, q)] \wedge [\mu_A(c, q) \wedge \mu_B(d, q)]: x = a + b, y = c + d\}$$

$$= V\{[\mu_A(a, q) \wedge \mu_A(b, q)] \wedge [\mu_B(c, q) \wedge \mu_B(d, q)]: x = a + b, y = c + d\}$$

$$\leq V\{[\mu_A(a+c, q) \wedge \mu_B(b+d, q)]: x = a + b, y = c + d\}$$

$$= \mu_{A \oplus B}(x + y, q)$$

$$\nu_{A \oplus B}(x, q) \wedge \nu_{A \oplus B}(y, q) = \{V\{\nu_A(a, q) \wedge \nu_B(b, q) : x = a + b\} \wedge \{V \nu_A(c, q) \wedge \nu_B(d, q) : y = c + d\}$$

$$= V\{[\nu_A(a, q) \wedge \nu_B(b, q)] \wedge [\nu_A(c, q) \wedge \nu_B(d, q)]: x = a + b, y = c + d\}$$

$$\leq V\{[\nu_A(a+c, q) \wedge \nu_B(b+d, q)]: x = a + b, y = c + d\}$$

$$= \nu_{A \oplus B}(x + y, q)$$

$$\nu_{A \oplus B}(x, q) \wedge \nu_{A \oplus B}(y, q) = \{V\{\nu_A(a, q) \wedge \nu_B(b, q) : x = a + b\} \wedge \{V \nu_A(c, q) \wedge \nu_B(d, q) : y = c + d\}$$

$$= V\{[\nu_A(a, q) \wedge \nu_B(b, q)] \wedge [\nu_A(c, q) \wedge \nu_B(d, q)]: x = a + b, y = c + d\}$$

$$= \nu_{A \oplus B}(x + y, q)$$

$$\begin{aligned}
 &=V\{v_A(a, q) \wedge v_A(b, q)\} \wedge \{v_B(c, q) \wedge v_B(d, q)\}: x = a + b, y = c + d\} \\
 &=v_{A\oplus B}(x+y, q) \\
 \text{Also } \mu_{A\oplus B}(x, q) &= V\{\mu_A(a, q) \wedge \mu_B(b, q): x = a+b\} \\
 &\geq V[\mu_A(a\alpha\beta z, q) \wedge \mu_B(b\alpha\beta z, q): x\alpha y\beta z = a\alpha y\beta z + b\alpha y\beta z] \\
 &\geq V[\mu_A(u, q) \wedge \mu_B(v, q) : x\alpha y\beta z = u + v] \\
 &= \mu_{A\oplus B}(x\alpha y\beta z) \\
 v_{A\oplus B}(x, q) &= V\{v_A(a, q) \wedge v_B(b, q) : x = a+b\} \\
 &\geq V\{v_A(a\alpha\beta z, q) \wedge v_B(b\alpha\beta z, q): x\alpha y\beta z = a\alpha y\beta z + b\alpha y\beta z\} \\
 &\geq V\{v_A(u, q) \wedge v_B(v, q): x\alpha y\beta z = u + v\} \\
 &= v_{A\oplus B}(x\alpha y\beta z, q)
 \end{aligned}$$

Hence $\mu_{A\oplus B}(a\alpha\beta z, q) \leq \mu_{A\oplus B}(x, q)$ and

$$v_{A\oplus B}(x\alpha y\beta z, q) \leq v_{A\oplus B}(x, q)$$

Similarly, we have

$$\mu_{A\oplus B}(x\alpha y\beta, q) \leq \mu_{A\oplus B}(y, q) \text{ and } v_{A\oplus B}(x\alpha y\beta z, q) \leq v_{A\oplus B}(y, q) \text{ and also we have}$$

$$\mu_{A\oplus B}(x\alpha y\beta z, q) \leq \mu_{A\oplus B}(z, q) \text{ and } v_{A\oplus B}(x\alpha y\beta z, q) \leq v_{A\oplus B}(z, q)$$

Let $x \leq y$ then $\mu_A(x, q) \leq \mu_B(y, q)$ and $v_A(x, q) \geq v_B(y, q)$

Also $\mu_B(x, q) \leq \mu_B(y, q)$ and $v_b(x, q) \geq v_B(y, q)$

$$\text{Now } \mu_{A\oplus B}(x, q) = V\{\mu_A(a, q) \wedge \mu_B(b, q) : x = a+b\} \leq V[\mu_A(c, q) \wedge \mu_B(d, q) : y = c+d] = v_{A\oplus B}(y, q)$$

$$v_{A\oplus B}(x, q) = \wedge \{v_A(a, q) \wedge v_B(b, q): x = a+b\}$$

$$\leq V\{v_A(c, q) \wedge v_B(d, q) : y = c+d\} = v_{A\oplus B}(y, q)$$

Hence $A\oplus B$ is Q intuitionistic fuzzy ordered filter of R.

Theorem 3.3

If A, B and C are Q intuitionistic fuzzy ordered filter of R. Then (i) $A \cap B \cap C$ is

a Q intuitionistic fuzzy ordered filter of R. (i) $A \Gamma B \Gamma C \supseteq A \cap B \cap C$.

Proof of (i) Let A, B and C are Q intuitionistic fuzzy ordered filter of R and let $x, y \in R$ and $a, \beta \in \Gamma, q \in Q$. Then

$$\begin{aligned}
 \mu_{A \cap B \cap C}(x+y, q) &= \{\mu(x+y, q) \wedge \mu_{B \cap C}(x+y, q)\} \\
 &= \{\mu_A(x, q) \wedge \mu_A(y, q)\} \wedge \{\mu_B(x, q) \wedge \mu_B(y, q)\} \wedge \{\mu_C(x, q) \wedge \mu_C(y, q)\} \\
 &= \{\mu_A(x, q) \wedge \mu_B(x, q)\} \wedge \{\mu_A(y, q) \wedge \mu_B(y, q)\} \wedge \{\mu_C(x, q) \wedge \mu_C(y, q)\} \\
 &= \mu_{A \cap B \cap C}(x, q) \wedge \mu_{A \cap B \cap C}(y, q) \\
 v_{A \cap B \cap C}(x+y, q) &= \{v(x+y, q) \wedge v_{B \cap C}(x+y, q)\}
 \end{aligned}$$

$$\begin{aligned}
 &= \{v_A(x, q) \wedge v_A(y, q)\} \wedge \{v_B(x, q) \wedge v_B(y, q)\} \\
 &\wedge \{v_C(x, q) \wedge v_C(y, q)\} \\
 &= \{v_A(x, q) \wedge v_B(y, q)\} \wedge \{v_A(y, q) \wedge v_C(y, q)\} \\
 &\wedge \{v_C(x, q) \wedge v_C(y, q)\} \\
 v_{A \cap B \cap C}(x, q) \wedge v_{A \cap B \cap C}(y, q) &\text{ Now } \mu_{A \cap B \cap C}(x\alpha y\beta z, q) \\
 &= \{\mu(x\alpha y\beta z, q) \wedge \mu_B(x\alpha y\beta z, q) \wedge \mu_C(x\alpha y\beta z, q)\} \\
 &= \min\{\mu_A(x, q), \mu_A(y, q), \mu_A(z, q)\} \wedge \min\{\mu_B(x, q), \mu_B(y, q), \mu_B(z, q)\} \wedge \min\{\mu_C(x, q), \mu_C(y, q), \mu_C(z, q)\} \\
 &= \min\{\mu_A(x, q) \wedge \mu_A(y, q)\} \wedge \mu_A(z, q) \wedge \min\{\mu_B(x, q) \wedge \mu_B(y, q) \wedge \mu_B(z, q)\} \\
 &\wedge \min\{\mu_C(x, q) \wedge \mu_C(y, q) \wedge \mu_C(z, q)\} \\
 &= \min\{\mu_{A \cap B \cap C}(x, q), \mu_{A \cap B \cap C}(y, q), \mu_{A \cap B \cap C}(z, q)\} \\
 v_{A \cap B \cap C}(x\alpha y\beta z, q) &= \{v_A(x\alpha y\beta z, q) \wedge v_B(x\alpha y\beta z, q) \wedge v_C(x\alpha y\beta z, q)\} \\
 &= \min\{v_A(x, q), v_A(y, q), v_A(z, q)\} \wedge \min\{v_B(x, q), v_B(y, q), v_B(z, q)\} \wedge \min\{v_C(x, q), v_C(y, q), v_C(z, q)\} \\
 &= \min\{v_A(x, q), v_A(y, q), v_A(z, q)\} \\
 &\wedge \min\{v_B(x, q), v_B(y, q), v_B(z, q)\} \wedge \min\{v_C(x, q), v_C(y, q), v_C(z, q)\} \\
 &= \min\{v_{A \cap B \cap C}(x, q), v_{A \cap B \cap C}(y, q), v_{A \cap B \cap C}(z, q)\}
 \end{aligned}$$

Let $x \leq y$. Then $\mu_{A \cap B \cap C}(x, q) = \mu_A(x, q) \wedge \mu_B(x, q) \wedge \mu_C(x, q) \leq \mu_A(y, q) \wedge \mu_B(y, q) \wedge \mu_C(y, q) = \mu_{A \cap B \cap C}(y, q)$

$$\begin{aligned}
 v_{A \cap B \cap C}(x, q) &= v_A(x, q) \wedge v_B(x, q) \wedge v_C(x, q) \\
 &\geq v_A(y, q) \wedge v_B(y, q) \wedge v_C(y, q) = v_{A \cap B \cap C}(y, q)
 \end{aligned}$$

Proof of (ii)

If $\mu_{A \Gamma B \Gamma C}(x, q) = 1$ $\mu_{A \Gamma B \Gamma C}(x, q) = 0$

Then there is nothing to prove suppose

$\mu_{A \Gamma B \Gamma C}(x, q) \neq 1$ and $\mu_{A \Gamma B \Gamma C}(x, q) \neq 0$

$$\mu_{A \Gamma B \Gamma C}(a, q) = V_{a=x\alpha y\beta z} \{\mu_A(x, q) \wedge \mu_B(x, q) \wedge \mu_C(z, q)\} \geq \{\mu_A(a, q) \wedge \mu_B(a, q) \wedge \mu_C(a, q)\} = \mu_{A \cap B \cap C}(a, q)$$

$$v_{A \Gamma B \Gamma C}(a, q) = V_{a=x\alpha y\beta z} \{v_A(x, q) \wedge v_B(y, q) \wedge v_C(z, q)\} \geq \{v_A(a, q) \wedge v_B(a, q) \wedge v_C(a, q)\} = v_{A \cap B \cap C}(a, q) \text{ for all } a \in R, q \in Q, x, y, z \in R, \alpha, \beta \in \Gamma$$

Hence $A \Gamma B \Gamma C \supseteq A \cap B \cap C$.

References:

- (1) T.K.Dutta and S.Kar, “ On regular ternary semi-rings”, Advances in Algebras Proceedings of the ICM Satellite Conference in Algebras and Related Topics, world Scientific Pubal., Singapore(2003) PP 205-213.
- (2) T.K.Dutta and S.Kar, “A note on regular ternary semi-rings”, KYUNGPOOK Math.J, V 46(2006) PP 357-365.
- (3) N.Nobuswawa, on a generalization of the ring theory, Osaka J.Math., V1(1964), PP 81-89.
- (4) H.S Vandiver, Note on a simple type of Algebra in which cancellation law of addition does not hold, Bull.Amer. math.Sec, V 40(1934) PP 914-920.
- (5) Dr. B. Anandh and T. Jayakumar, Q-Institionistic fuzzy ordered filters in ordered ternary gamma-semirings. Advances in Fuzzy Mathematics, Vol.II No.2(2016), PP 183-193.

